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BEMO, Hhyd
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@classCode="PAT
ERE S hniR, HPsEE
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|--|--|--county Hhk-5 (XD DEO02. 01. 009. 03
|--|--|--city k-1 XD DE02. 01. 009. 02
|--|--|--state Hhk-% (BEIX. BEETD DE02. 01. 009. 01
BENMAEARER, HbdaEe
|--|--patient classCode="PSN” ,
@determinerCode="INSTANCE”
BEH MU, HsaEe
|oe|--|--id root="2. 16. 156. 10011. 1. 3", TfiH | DE02. 01.031.00
EHIgmSET id/@extension 1
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|--assigned Author . 4 , ol ,
@classCode="ASSIGNED
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|--|--id @root="2. 16. 156. 10011. 1. 77, T
BARKIZm5 BT id/@extension
|--|--assignedPerson
|--|--|--name B 20 FE T DE02. 01. 039. 00
informant I S BRIk
|--assignedEntity
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@codeSystem="2. 16. 156. 10011. 2.
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3.3.8”, @codeSystemName="5 it
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|--time
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BARHI%% 5 BT id/@extension H
|--]--code H.rh@displayName="1F B )ifi”
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|--section
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|--|--text N
|--|--entry TRk H
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|--|--|]--observation 1.1 R | @classCode="0BS” ,
@moodCode="EVN”
Code
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o j--code em |1 R 6.10011.2.2.17 , DEO4. 01. 119.
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|--section
code = B R ) A 2 YA
displayN 4, Hre
ame code="11450-4" ,
codeSyst @displayName="PROBLE
|--|]--code em 1..1 R M LIST” ,
codeSyst @codeSystem="2. 16. 84
emName 0.1.113883.6.17 ,
@codeSystemName="L01
NC”
-t N
|--|--entry B N 75 AT FE R A
Hrp
|--|]--|--observation 1..1 R @classCode="0BS” ,
@moodCode="EVN”
Code H,
codeSyst @codeSystem="2. 16. 15 | DE05. 10. 143.
feo|e<f-|=code L..1] R -
em 6.10011.2.2.17 , 00
codeSyst @codeSystemName="T.
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B E
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{HAE@value F
|--|]--entry R “PUis” WEEss
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|--|--|]--observation @classCode="0BS” ,
@moodCode="EVN”
Code Hr,
codeSyst @codeSystem="2. 16. 15
em 6.10011.2.2.17, @
) DE02. 10. 028.
|-=]--|--|]--code codeSyst | 1..1 T codeSystemName=""T4E 00
emName sREPEITCHR
displayN @displayName=""r1[5=
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|--section
code ABtislr s, H
displayN F1@code="46241-6",
ame @displayName="HOSPIT
- —code codeSyst AL ADMISSION DX”,
em codeSystem="2. 16. 840
codoSyst 1.113883.6.17 ,
emName @codeSystemName="L01
NC”
|--|--text N
|--|--entry ANz Wr-vh 2% B
Hrp
|--|--|--observation @classCode="0BS” ,
@moodCode="EVN”
Code Ho,
codeSyst @codeSystem="2. 16. 15
em 6.10011.2.2.17 ,
) DEO5. 01. 025.
|--|--]--|]--code codeSyst @codeSystemName="_2 00
emName A REYETER”
displayN @displayName=" AFiiZ
ame Wr— P8 = 12 W 4 PR
xsi:type F [ TR 40 £ 3 N5 st
e WL, G T
H I VEERIZ W AR, B
B (Hexsi:type="ST”
|(;;1|;-}|1-i-1|3--entryRe1at1 Hrh, typeCode="COMP”
Hrp
|--]--|--|]--|--observation @classCode="0BS” ,
@moodCode="EVN”
Code A BE 2 Wi—1h =12 W 2
codeSyst -, He,
em @codeSystem="2. 16. 15
e fo-l--code codeSyst 6.10011.2.2.17 , DEO05. 01. 024.
emName @codeSystemName="T 00
displayN EEE‘ﬁ%ﬁai” ,
@displayName=" \[zi2
e b7 2 1 W
xsi:type Hrh, @xsi:type="CD”,
el e|value Code @codeSystem="2. 16. 15
codeSyst 6.10011.2.3.3.11. 3”7
em , @codeSystemName="
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codeSyst W% (1ICD-10) ”
emName
|--|--entry ANBgizWr-h 2% B
Hrp
|--|--|]--observation @classCode="0BS” ,
@moodCode="EVN”
Code H,
codeSyst @codeSystem="2. 16. 15
em 6.10011.2.2.17 , DEOS. 10. 172.
|-=]--|--|]--code codeSyst @codeSystemName="T 00
emName AfEREYE TER”
displayN @displayName="AFiiZ
ame W7 B2 44 A4 R
FH = AR 4 28 A\ B It
e fel-l-value wsi:type PGS, L5693 HT Bl
MR 4, ShEE
@xsi:type="ST”
|nkﬁiﬂnentryRelat1 $Ee1, typeCode="COMP”
onship
Hrp
|--|--|--|--|]--observation @classCode="0BS” ,
@moodCode="EVN”
Code ARz Wr—rh B2 g
codeSyst -, He,
em @codeSystem="2. 16. 15
e ffo-l--code codeSyst 6.10011.2.2.17 , DEO5. 10. 130.
emName @codeSystemName="T 00
displagh ﬁiﬁ?%iiﬁﬁ%fﬁﬁiﬁ%”,‘
@displayName=" \[gi2
e b7+ 0 4440
xsi:type Hr,
Code @xsi:type="CD” ,
codeSyst @codeSystem="2. 16. 15
feefee el |-value om 6.10011.2.3.3. 147 ,
codeSyst @codeSystemName=""+
emName BRI IE 73 R H AR
(GB/T 15657) ”
--l-entrykelatd o1, typeCode="COMP”
onship
Hrp
|--|--|--|--]--observation @classCode="0BS” ,

@moodCode="EVN”
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Code AN B2 Wr—rh BRI fig 2
codeSyst -2 Fk, HA,
em @codeSystem="2. 16. 15
feeorforforfo-f--code codeSyst L1 R 6.10011.2.2.17 , DEO5. 10. 172.
emName @codeSystemName=""F 00
. AE R ITER
displayN @displayName=" A\ i2
ane B+ BEAIE % 4
xsi:type FE [ AR 40 B3 NS5 s
IS, ZRE i B
|--|--|--|--|--|]--value 1..1 R .
H IR R, H
1, @xsi:type="INT”
|--|--|--|--entryRelati L R Hr,
onship @typeCode="COMP”
o
|--|--|--|--]--observation @classCode="0BS” ,
@moodCode="EVN”
Code ANBei2 Wr—rh BRI g 2
codeSyst -1, Hea,
em @codeSystem="2. 16. 15
fefoefoefoe|o---code codeSyst L1 R 6.10011.2.2.17 , DEO5. 10. 130.
emName @codeSystemName="T. 00
displagh Eﬁﬁﬁ%ﬁai”t
@displayName=" \[zi2
e 7o B A7 R
xsi:type He,
Code @xsi:type="CD” ,
codeSyst @codeSystem="2. 16. 15
fefeeeofe}-value enm | 1.1| R |6.10011.2.3.3.14"
codeSyst @codeSystemName="r"
emName BRI iE s R 5 SR
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®13 RTTIHTNIETH TREK

TRAH REE | m | gk | woiH MBS
TChR IR
component BT RIETTR TR
|--section
code BT TR E AR, H
displayN H1@code="18776-5" ,
ame @displayName="TREATM
|--|--code codeSyst 1..1 R ENT PLAN" . .,
em @codeSystem="2. 16. 84
codeSyst 0.1.113883.6.1” ,
emName @codeSystemName="L01
NC”
|--|--text NS
|--|--entry VLI MER R JE|
Hrp
|--|--|--observation @classCode="0BS” ,
@moodCode="1INT”
Code Hr,
codeSyst @codeSystem="2. 16. 15
em 6.10011.2.2.17 , DEO0G. 00. 300.
|--]--|--|]--code codeSyst | 1..1 R @codeSystemName="T. 00
emName g BEE THR,
displayN @displayName="y& VA
ame %
xsi:type FR P& UL 25 3 L6 )
|--|--|--|]--value 1..1 R IVELRARE, SEE
@xsi:type="ST”
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6.6.2 {EpTiHiEETTRAMK
R E TR AR & LS.
F15 ERIEEDTREAMR
ST T TP B R ML
TChR IR
component A EENRITE
|--section
code P iR AN,
displayN H1@ code="8648-8" ,
ame @displayName="HOSPIT
I---—code codeSyst | |y | g | AL COURSET,
em @codeSystem="2. 16. 84
codeSyst 0.1.113883.6. 17,
emName @codeSystemName="L01
NC”
|--|--text NBEHR
|--|--entry NGAERE 3=
Hrp
|--|--|--observation @classCode="0BS” ,
@moodCode="EVN”
Code Hr,
codeSyst @codeSystem="2. 16. 15
em 6.10011.2.2.17 ,
| DEO05. 10. 148.
|--|--]--|--code codeSyst | 1..1 R @codeSystemName="_" 00
emName AEEHIETTER,
displayN @displayName=" A\l
ame o
xsi:type X BB N Bt 0 ) 1 4
|--|--|--|]--value 1..1 R | #ik, SREME
@xsi'typeZ”ST”
|--|--entry 2T R RIA % H
. Hrp
|--|--|--observation Y
@classCode="0BS” ,
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@moodCode="EVN”
Code Horr,
codeSyst @codeSystem="2. 16. 15
em 6.10011.2.2.17 ,
|--]--|--|]--code codeSyst | 1..1 R @codeSystemName=""F DEOG. 00. 296.
emName AEEEIEITER 00
displayN @displayName="12J7 i
ame FER”
xsi:type X B F 2T IR AT
|--|--|--|]--value 1..1 R ik, shaE
@xsi:type="ST”
|--|--entry ST H R A 45 H
o
|--|--|--observation @classCode="0BS” ,
@moodCode="EVN”
Code o,
codeSyst @codeSystem="2. 16. 15
em 6.10011.2.2.17 ,
|--]--|--|]--code codeSyst | 1..1 R @codeSystemName=""F DEOZ. 01 036.
emName AE R ITER 00
displayN @displayName="%kT-H
ame S 1)
|--|--|--|--effectiveTime 1..1
——-high L.i| R
|--|--entry YT RK % H
o
|--|--|--observation 1..1 R @classCode="0BS” ,
@moodCode="EVN”
Code Ho,
codeSyst @codeSystem="2. 16. 15
em 6.10011.2.2.17 ,
|--]--|--|]--code codeSyst | 1..1 R @codeSystemName=""T DEOS. 10. 099.
emName AE R ITTER 00
displayN @displayName="%LT" &
ame [Al”
xsi:type R T BB R A )V
[+-[-[--|--value L.1 | R | 40k, stE{E
@xsi:type="ST”
|--|--entry Tz W-mE% H
. Hrp
|--|--]--observation PN
@classCode="0BS” ,
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@moodCode="EVN”
Code Hor,
codeSyst @codeSystem="2. 16. 15
em 6.10011.2.2.17 , DEO5. 0L. 095.
|--[--|--]--code codeSyst | 1..1 R | @odeSystemName="T. 00
emName HAEEHFETTER
displayN @displayName="4ET 2
ame WP L2 W 4 PR
xsi:type P 2 AR 4 B8 38 N i st
G OL,  ZrE T TR
|--|--]--|--value 1..1 R s
I VaERIZ W AR, R
B Eexsi: type="ST”
[~I-I--I-entryRelation 1.1 | R |3t typeCode="COMP”
ship
Hrp
|-=|--|--|--|--observation 1.1 R | @lassCode="0BS” ,
@moodCode="EVN”
Code FETZ -1 12 Wi g
codeSyst -, HAa,
em @codeSystem="2. 16. 15
el |code codeSyst L1 R 6.10011.2.2.17 , DEO5. 01. 024.
emName @codeSystemName=""T 00
. HAEEHFETTER
displayN @displayName="%ET 12
e 7 74 S 1 M
xs1:type HAr, @xsi:type="CD",
Code ,
@codeSystem="2. 16. 15
codeSyst ”
feefemfeo|—|<]--value .1 | R |6.10011.2.3.3.11.3
en , @codeSystemName="
codeSyst BT E (1CD-10) 7
emName
|--|--entry WrsHi-HE%H
Hrp
|--|--|--observation @classCode="0BS” ,
@moodCode="EVN”
Code H,
codeSyst @codeSystem="2. 16. 15
em 6.10011.2.2.17 , DEOS. 10. 172
|-[--|--]--code codeSyst | 1..1 R | @odeSystemName="T. 00
emName AEEHFETER
displayN @displayName="4ET 12
ame r— 225 44 44 PR
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H B AR 38 28 A\ B i
HIfs oL, L& TP E

pvalue xsiitpe B4, B
@xsi:type="ST”
|S—};|i;|——|——entryRelat10n o1, typeCode="COMP”
Hrp
|--]--|--|]--|--observation @classCode="0BS” ,
@moodCode="EVN”
Code T2 Wi RS g
codeSyst -, Hea,
em @codeSystem="2. 16. 15
e ffo-l--code codeSyst 6.10011.2.2.17 , DEO5. 10. 130.
emName @codeSystemName="T. 00
displayN EEEﬁ?Eﬁ HEJZKL”‘ ,
@displayName="%ET-2
" i s AR
xsi:type Hr,
Code @xsi:type="CD” ,
codeSyst @codeSystem="2. 16. 15
|-=|-=|--|--|--|--value em 6.10011.2.3.3.14” ,
codeSyst @codeSystemName=""+}
emName B IE 73 R E AR
(GB/T 15657) ”
|S-}-l|i;|--|--entryRelat10n $1f1, typeCode="COMP”
Jrere
|--|--|--|--]--observation @classCode="0BS” ,
@moodCode="EVN”
Code S22 Wr—rh BRI fi% 2
codeSyst -2 Fk, HA,
em @codeSystem="2. 16. 15
e e} l—code codeSyst 6.10011.2.2.17 , DEO5. 10. 172.
emName @codeSystemName=""T 00
_ HAEEHIFETTER
displayN @displayName="%ET-12
e Ui~ BEIE A% 447
xsi:type H B TR 95 e AN Bt
el -value PGS, ZRE i Bl
H IR R E AR, H
B, @xsi:type="ST”
|--|--|--|]--entryRelation Hrp,
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ship @typeCode="COMP”
o
|--|--|--|--]--observation 1..1 R @classCode="0BS” ,
@moodCode="EVN”
Code FET22 Wb BRI g O
codeSyst -, He,
em @codeSystem="2. 16. 15
e code codeSyst | | || |6-1001L2.2.17, DEO5. 10. 130.
emName @codeSystemName="T. 00
' AEEHRITTER
displayN

@displayName="%ET-12

ane M7 A £
Xsi:type Hrh, @xsi:type="CD”,
Code @codeSystem="2. 16. 15
codeSyst 6.10011. 2. 3. 3. 14”7,
|--|--|-=|--|--]--value 1..1 R ”
em @codeSystemName="1
codeSyst IR UE T R 5 %R
emName (GB/T 15657) ”
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M & A
(HSEMEMR)
24h ANBRFETiE R XA R I

<?xml version="1.0" encoding="UTF-8"?>
<ClinicalDocument xmlns="urn:hl7-org:v3" xmlns:mif="urn:hl7-org:v3/mif"
xmlns:xsi="http://www.w3.0rg/2001/XMLSchema-instance"

xsi:schemalocation="urn:hl7-org:v3 ..\sdschemas\SDA .xsd">
<l

s 3k sk sfe sie sk sk sie ke sfe sk sk sk sl sk s ske sk sk sie st s ske sk sk sie st sfeoske sk sk s sk seoske sk sk i sk sk s sk sk sk sk sk skoskokoskok skoskok
CDA Header
s she sk sfe sk she st sie sfe she sk sfe sk ske sfe sie sk st sie sfe sk sfe sk sk ske sk sk sfe sk sfe sfe sk sfe sk sk ste st sfe sk s sfe sk sk ste sk sfeske sk seskeoske skeske sk sk
>
<realmCode code="CN"/>
<typeld root="2.16.840.1.113883.1.3" extension="POCD_MT000040"/>
<templateld root="2.16.156.10011.2.1.1.56"/>

<l-- XCHYRAKS >
<id root="2.16.156.10011.1.1" extension="RNO001"/>

<code code="C0036" codeSystem="2.16.156.10011.2.4" codeSystemName="_1 £ {55 B4t = R4 4wt ik R />
<title>24h Y ABE BT 0 R </title>

<l-- SCRHLER L A >
<effectiveTime value="20121024154823"/>

<confidentialityCode code="N" codeSystem="2.16.840.1.113883.5.25" codeSystemName="Confidentiality"
displayName="1F i 1Jj [n] {2 25" />
<languageCode code="zh-CN"/>
<setld/>
<versionNumber/>
< --RIE TR (EFED  [1..%] contextControlCode="OP" &/~ A5 B n] LAY & #-->
<recordTarget typeCode="RCT" contextControlCode="OP">
<patientRole classCode="PAT">
<-AEBE T AR iR-->
<id root="2.16.156.10011.1.12" extension="HA201102113366666"/>
<!-- PifEHE >
<addr use="H">

<houseNumber>xx "5 xx/) X xx#:xx H. Jh</houseNumber>

19




WS/T XXXXX—2013

<streetName>xx _Ki# </streetName>
<township>xx Z #i</township>
<county>xx [X </county>
<city>xx i </city>
<state>xx“4 </state>
</addr>
<patient classCode="PSN" determinerCode="INSTANCE">
<l--EFH LT -->
<id root="2.16.156.10011.1.3" extension="1D420106201101011919"/>
<name>Z* & # </name>
<administrativeGenderCode code="1" displayName=""5 {£"
codeSystem="2.16.156.10011.2.3.3.4" codeSystemName=""EFL V4 H {05 % (GB/T 2261.1) "/>
<maritalStatusCode code="10" displayName="R 4" codeSystem="2.16.156.10011.2.3.3.5"
codeSystemName="#FHIRHLALILE (GB/T 2261.2) "/>
<ethnicGroupCode code="01" displayName="7}J#&" codeSystem="2.16.156.10011.2.3.3.3"
codeSystemName=" [ I5EK (GB/T 3304) "/>
<l-- FhE >
<age value="30" unit="%"/>
<1--BRMP AR >
<occupation>
<occupationCode code="11" displayName="EFK A 5% 51"
codeSystem="2.16.156.10011.2.3.3.13" codeSystemName="MIIRH (NN G ) RiBFE (GB/T 2261.4) "/>
</occupation>
</patient>
</patientRole>
</recordTarget>
<l-- XHBIEE >
<author typeCode="AUT" contextControlCode="OP">
<time value="20110404101010"/>
<assignedAuthor classCode="ASSIGNED">
<id root="2.16.156.10011.1.7" extension="234234234"/>
<assignedPerson>
<name>Z % /f </name>
</assignedPerson>
</assigned Author>
</author>
<l-- BRI E >
<informant>
<assignedEntity>
<id/>
<I--PRidF 5 1ok R AU -->
<code code="1" displayName="TC{H" codeSystem="2.16.156.10011.2.3.3.8" codeSystemName="
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FpEXRZNIGE (GB/T 4761) "/>
<assignedPerson>
<name>ZE K Jj </name>
</assignedPerson>
</assignedEntity>
</informant>
<l RENI >
<custodian typeCode="CST">
<assignedCustodian classCode="ASSIGNED">
<representedCustodianOrganization classCode="ORG" determinerCode="INSTANCE">
<id root="2.16.156.10011.1.5" extension="[&J7 A HLH % 5"/>
<name>xx[% it </name>
</representedCustodianOrganization>
</assignedCustodian>
</custodian>
<l RAHHEZL >
<legal Authenticator>
<time/>
<signatureCode/>
<assignedEntity>
<id root="2.16.156.10011.1.4" extension="001"/>
<code displayName="F-{F [ Jifi"/>
<assignedPerson>
<name>ZF F{T-</name>
</assignedPerson>
</assignedEntity>
</legal Authenticator>
<l LBEMZES >
<authenticator>
<time/>
<signatureCode/>
<assignedEntity>
<id root="2.16.156.10011.1.4" extension="002"/>
<code displayName="4%12 EJifi"/>
<assignedPerson>

<name>Z4* %12 </name>

</assignedPerson>
</assignedEntity>
</authenticator>
<R B2 2544 -->
<authenticator>
<time/>
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<signatureCode/>
<assignedEntity>
<id root="2.16.156.10011.1.4" extension="003"/>
<code displayName="1FF5 [ Jifi"/>
<assignedPerson>
<name>Z{F: i </name>
</assignedPerson>
</assignedEntity>
</authenticator>
<l--FIREEINEA4 >
<authenticator>
<time/>
<signatureCode/>
<assignedEntity>
<id root="2.16.156.10011.1.4" extension="004"/>
<code displayName="3f = Jifi"/>
<assignedPerson>
<name>% F2 A </name>
</assignedPerson>
</assignedEntity>
</authenticator>
<relatedDocument typeCode="RPLC">
<parentDocument>
<id/>
<setld/>
<versionNumber/>
</parentDocument>
</relatedDocument>
<l KRG b XL BEEMER O >
<componentOf>
<encompassingEncounter>
<effectiveTime>
<l-- AP H I ] >
<low value="20121112090825"/>
</effectiveTime>
</encompassingEncounter>

</componentOf>

< | 3k sk sk sk sk sk sk sk sk ok stk sk sk sk sk sk stk sk sk sk sk sk sk sk sk sk sk skl stk stk sk stk ok skokskskok ok skok ko

W HiABody

sk sk sk sk sk sk sk sk sk sk sk ste sk ste st sk sk she sk ske sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk skosko skt sk ke sk skt skoskoskoskoskoskok

-->

<component>

22




WS/T XXXXX—2013

<structuredBody>
<I-FFET->
<component>
<section>
<code code="10154-3" displayName="CHIEF COMPLAINT"
codeSystem="2.16.840.1.113883.6.1" codeSystemName="LOINC"/>
<text/>
<l--FRKH-->
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE04.01.119.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T*£ {5 2445 70 H 3% " displayName="F1f"/>
<value xsi:type="ST">" X HF A I AH 5 1) 32 BEREAR S ARSI 8] PO i
w, o B AR N R </value>

</observation>
</entry>
</section>
</component>
<l--FEAR R T >
<component>
<section>

<code code="11450-4" displayName="PROBLEM LIST"
codeSystem="2.16.840.1.113883.6.1" codeSystemName="LOINC"/>

<text/>
<1--FARIR A B AT SE AR >
<entry>

<observation classCode="OBS" moodCode="EVN">
<code code="DE05.10.143.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T/: {5 & (4} 76 H 3" displayName="it N 25 0] FE bR L />
<value xsi:type="BL" value="false"/>
</observation>
</entry>
<l ECPUL MBS R >
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE02.10.028.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T 415 & 445 7€ H 3" displayName=""" &2 M 2245 />
<value xsi:type="ST">H1 VYL WELE R TEMF IR, BIEHE. @, v,
PIYiZ N & </value>
</observation>
</entry>

</section>
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</component>
<!--

sk sk sk sk sk sk sk sk sk sk st ste sk st sk sk sk she sk ske sk sk sk sk sk sk sk ste sk sk sk sk sk sk sk sk sk sk sk sk st sk sk ste sk sk sk sk skokokoskokoskokok

NBEi2 W55

sk s st sk sk sk sk sk sk sk sk sk sk sk sk st sk sk sk st sk st sk sk sk st sk skeosk sk skeoske sk skeosie sk skeosieo sk sk skeoskosie sk skeoskoskoskokoskokok skeskok
-
<component>
<section>
<code code="46241-6" displayName="HOSPITAL ADMISSION DX"
codeSystem="2.16.840.1.113883.6.1" codeSystemName="LOINC"/>
<text/>
<l-- ARz Wr-v e ok H -->
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE05.01.025.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName="_F 415 E## 7t B %" displayName=" ¢ 12 Wi- it =12 Wi 2 FR" />
<value xsi:type="ST">@1 {7 M 5 {75 </value>
<entryRelationship typeCode="COMP">
<observation classCode="OBS" moodCode="EVN">
<l--APBt 2 Wi-v =2 W g b -G -
<code code="DE05.01.024.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName="_F 415 E &4 7t H %" displayName="A\F5¢ 12 Wi-ti =2 Wi gmig" />
<value xsi:type="CD" code="506.902" displayName=""{1] {3 V£ iz
15" codeSystem="2.16.156.10011.2.3.3.11.3" codeSystemName="12 W%k (ICD-10) "/>
</observation>
</entryRelationship>
</observation>
</entry>
<I-APBtizWi-H &% H-->
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE05.10.172.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T 415 /& 445 7C H 5" displayName="A it 12 Wr- - =95 44 4 5" />
<value xsi:type="ST">M EHi</value>
<entryRelationship typeCode="COMP">
<observation classCode="OBS" moodCode="EVN">
<l--APBizWi-H =2 W g b - A5 --—>
<code code="DE05.10.130.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T 415 /& 4045 7C H 5" displayName=" A Fit 12 Wr- = =95 44 AXAS />
<value xsi:type="CD" code="BN" displayName="P £H"
codeSystem="2.16.156.10011.2.3.3.14" codeSystemName=""r ZJpilE 73 2K 5L E (GB/T 15657) "/>

</observation>
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</entryRelationship>
<entryRelationship typeCode="COMP">
<observation classCode="OBS" moodCode="EVN">
<I-- NBEiZ - BRI G b - 44 FR -->
<code code="DE05.10.172.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T 415 /& 445 7C H 3" displayName=" A Fi¢ 12 Wr - = 1IE i 4 5 />
<value xsi:type="ST">"K & _ Wik </value>
</observation>
</entryRelationship>
<entryRelationship typeCode="COMP">
<observation classCode="OBS" moodCode="EVN">
<I-- NBgiZ - B A G b - A i -->
<code code="DE05.10.130.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName="_ 415 EE# 7t H %" displayName="A\F5¢ 12 Wr-+ BEAEEAHE" />
<value xsi:type="CD" code="ZBUD90" displayName=""K 7 I BilL
" codeSystem="2.16.156.10011.2.3.3.14" codeSystemName=""r1ZJpilE 732 5L #E (GB/T 15657) "/>

</observation>
</entryRelationship>
</observation>
</entry>

</section>
</component>
<I--JRIT TR AT >
<component>

<section>

<code code="18776-5" displayName="TREATMENT PLAN"
codeSystem="2.16.840.1.113883.6.1" codeSystemName="LOINC"/>

<text/>
<--JRMAVER H->
<entry>

<observation classCode="OBS" moodCode="INT">
<code code="DE06.00.300.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T =15 & H(#f 70 H 3" displayName="7M|yA7%"/>
<value xsi:type="ST">RIEHFIUE 45 F K H (1976 WA TE L FRAR E</value>
</observation>
</entry>
</section>
</component>
<I-AERTid P E AT >
<component>
<section>
<code code="8648-8" displayName="HOSPITAL COURSE"
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codeSystem="2.16.840.1.113883.6.1" codeSystemName="LOINC"/>

<text/>

<l-- APt otk H-->
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE05.10.148.00" codeSystem="2.16.156.10011.2.2.1"

codeSystemName=""T 415 B &4 ¢ H %" displayName=" ARz 154" />
<value xsi:type="ST">XJ &3 A\ Bt I 1 4l fiid </value>

</observation>

</entry>
<1297 iR % H >
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE06.00.296.00" codeSystem="2.16.156.10011.2.2.1"

codeSystemName=""T 415 B &4 7¢ H " displayName="1247 i F2 4tk "/>
<value xsi:type="ST">XJ & 1277 i FE I A A </value>

</observation>

</entry>
<I--ZET: H A R 2% H ->
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE02.01.036.00" codeSystem="2.16.156.10011.2.2.1"

codeSystemName=""T. {5 B #5570 H 5" displayName="4t.1_ F i [&]"/>
<effectiveTime>
<high value="20121012101010"/>

</effectiveTime>
</observation>

</entry>
<I- BRI H ->
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE05.10.099.00" codeSystem="2.16.156.10011.2.2.1"

codeSystemName=""T 415 B &4 7¢ H %" displayName="4t 1 J5 [X]"/>
<value xsi:type="ST">H # FL T B % J7 K 1 7 4 Hf ik </value>

</observation>

</entry>
<I--BETS2Wr-PR R ok H -->
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE05.01.025.00" codeSystem="2.16.156.10011.2.2.1"

codeSystemName=""T. {5 B 4#% 70 H 5" displayName="4t.1T_12 - 75 R 2 b 4 />
<value xsi:type="ST">GI{% V£ i {5 </value>
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<entryRelationship typeCode="COMP">
<observation classCode="OBS" moodCode="EVN">
<I--FETZZ M- V8 BR 2 Wi b - A -->
<code code="DE05.01.024.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T =15 & ¥ 7t H 3% " displayName="3E 112 Wr- P4 =12 Wi g i />
<value xsi:type="CD" code="506.902" displayName=""{1] {3 V£ iz
15" codeSystem="2.16.156.10011.2.3.3.11.3" codeSystemName="12 W%k (ICD-10) "/>
</observation>
</entryRelationship>
</observation>
</entry>
<l--FETseWr-h Rk H >
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE05.10.172.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T 415 /& 4045 7C H 3" displayName="4t1 12 Wr-H =95 4 2 />
<value xsi:type="ST">M £Hi</value>
<entryRelationship typeCode="COMP">
<observation classCode="OBS" moodCode="EVN">
<I-FETZZ M- RS Wi b - A -->
<code code="DE05.10.130.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName="_F 415 E &4 7t H %" displayName="4C =12 Wr-+ &= Z A5 " />
<value xsi:type="CD" code="BN" displayName="P £Hp"
codeSystem="2.16.156.10011.2.3.3.14" codeSystemName=""r Il 73 2 5% (GB/T 15657) "/>
</observation>
</entryRelationship>
<entryRelationship typeCode="COMP">
<observation classCode="OBS" moodCode="EVN">
<I--FETZAZ M- BRI G b - 4 R -->
<code code="DE05.10.172.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=" T {5 B 4#% 70 H 5" displayName="4t. 112 - R iIE g 44 75 />
<value xsi:type="ST">'K #_I Wik </value>
</observation>
</entryRelationship>
<entryRelationship typeCode="COMP">
<observation classCode="OBS" moodCode="EVN">
<I--FETZAZ M- BRI G b - A >
<code code="DE05.10.130.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T =15 & ¥ 7t H 3% " displayName="3E 112 Wr-H R iF 5" />
<value xsi:type="CD" code="ZBUD90" displayName=""K 7 I BilL
" codeSystem="2.16.156.10011.2.3.3.14" codeSystemName=""r1ZJpilE 73 5L #E (GB/T 15657) "/>

</observation>
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</entryRelationship>
</observation>
</entry>
</section>
</component>
</structuredBody>
</component>

</ClinicalDocument>

28




